Q-1

Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name : Electrical Traction and Control
Subject Code : 2TEOSETC1 Branch: Diploma (Electrical)
Semester : 5 Date : 21/03/2018 Time :10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) Drive Suitable for Mining Site.
A) Diesel Electric Drive
B) IC Engine Drive
C) Electric Drive
D) None of the above
b) In Magnetic Levitaion , Force F=
A)BIL N
B) BIZ N
C)ulH N
D) VIR N
c) Service has no Free Running Period.
A) Main Line
B) Sub urban
C) Urban
D) 2& 3
d) The total weight to be carried on the driving wheels is known as the

A) Dead Weight
B) Adhesive Weight
C) Apparent Weight
D) Extrinsic weight
e) Overall efficiency of steam locomotive system is close to
A) 5to 10%
B) 25 to 30%
C) 55 to 60%
D) 75 to 80%.
f)  The efficiency of diesel locomotives is nearly

A) 20 - 25 %
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B) 35-40%

C) 50-55%

D) 70-75%

Suburban railways use

A) 1500 V DC

B)440V 3@ AC

C)660V 3@ AC

D) 3.3kV 3@ AC.

Which braking system on the locomotives is costly
A) Vacuum braking on steam locomotives

B) Vacuum braking on diesel locomotives

C) Regenerative breaking on electric locomotives
D) All breaking systems are equally costly.

The coefficient of adhesion is highest when

(A) the rails are oiled

(B) the rails are dry

(C) the rails ark wet with dew

(D) the rails are dusty.

Over head lines for power supply to tramcars are at a minimum height of
A)2m

B)5m

C)10m

D) 15 m.

Free running and coasting periods arc generally long in ease if
A) urban service

B) sub-urban service

C) main-line service

D) all of the above.

Maintenance requirements are least in case of

A) electric locomotives

B) diesel locomotives

C) steam locomotives

D) All of the above

During coasting the power supply is

A) Medium

B) High

C) Low

D) Zero

Power output from the driving axles is tractive effort *
A) Power

B) Speed

C) Voltage

D) Frequency

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

A
B

A

Attempt all questions

Write Advantages and Disadvantages of Electric Traction System.
Explain Diesel Electric Traction System.

Attempt all questions

Explain ‘Speed Time Curve.” Explain Typical Speed Time Curve for Different
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Train Services.

An electrical train operating between two stops 2 km apart as average speed of 44 7
kmph. The rate of Acceleration & Retardation is 3.1 kmphps and 2.2 kmphps
respectively. Find the value of Max. Speed assuming trapezoidal speed curve.
Also calculate Acceleration Time and Retardation Time.
Attempt all questions (14)
List & explain different current collecting equipments in traction. 7
Explain overhead Current Control System 7
Attempt all questions (14)
Draw and Explain Power Circuit diagram of Composite locomotive system. 7
Explain Magnetic Levitation. 7
Attempt all questions (14)
Describe, Why DC Series motor is ideal for Electric Traction? 7
Explain Catenary System. 7
Attempt all questions (14)
Explain working principle of Metadyne. 7
Explain Regenerative breaking applied to DC series motor. 7
Attempt all questions (14)
Explain the coach lighting system. 4
Explain Arno Converter 3
Explain Series to Parallel transition methods. 7
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A) [Rnd Salszs 3194
a) B) IC vilsy- 3154

C) salszs g159

D) 215 uwl e,
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A)BIL N

B) BIZ N

C)uIH N

D) VIR N
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D) 2& 3
UL 22121 BUILAL Hi DAL 58 A6yl 56 €9
A) 38 Asy<

B) 2iss A dsy-

C) 9lUz<2 45y

D) 612 < Asy<l

[R2H disiilza <l 54 siamdl
A) 5 to 10%

B) 25 to 30%

C) 55 to 60%

D) 75 to 80%.

(e alsinifza <l sa sihaudal
A) 20-25%

B) 35 -40 %

C) 50 - 55 %

D) 70-75%

UL {01, 369, BlWAIaL 52AIHE 214 €9,
A) 1500 vV DC

B) 440V 3@ AC

C)660V 3@ AC

D)3.3kV 3@ AC

dlsiilza i 59 o591 [Azeu Hidl 97

A) 24 disiHifza wi s gl

B) [3xa disivifza Hi asyH a5l

C) Salszs disimilza Hi Rey-zlza all5a

D) otal o7 (591 (4224 <l (544 215 u2vil ©9.
VHEAA Al AL A S 9 orAIR

(A) 294 ddl i 9.

(B) 254 sl S48

(C) 25d &Il i1 &9

(D) 354 4N SIA &9

2IHS12 HIZ UARES UL At <fl @l «{l wiieoL i 241s9] Glnd_ 99,

A)2m

B)5m

C)10m

D) 15 m.

_ sl Hi gl fd0 214 512290 Al A0 diotl GiAL 69,
A) s6i4

B) oA #A61<,

C) HvA @l

D) Gu <l %44l 6%

_ Slel Hi WA 2] sid 6.
A) Sasls disiifza

B) 32 disimilza
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C) R2u alsiHilza

D) GU2 L 541 6%

51201 Al AHAU 22HALA 92 2 SlA 69,
A) HEH

B) G2y

C) (A3

D) 944

SS9l 2AsUe M war 2uBl2Y2 = 2529 Ude*

A) uld2

B) #su

C) dicsy

D) 2ig[d

o{lAell Us Q-21t0 Q-8 Hi Ul S1&F UL 4 Ul oll scllol 1YL

o{lAell YA oll wclled AL, (14)

Oa[525 250 [A22H Al 51121 i A5AEL SYRUAL 7
[(za Salszs [Mzeu uxmAl. 7
AlAAL nseAl AL syaloL 2l (14)
[Rug 2154, 59 AumMAL (AR 24 weafd2il w2 [Rug 2154 59 2l 7
25 [424d 24 2 (54 £2 2094l oL z2ludl 422 d-il 22 satls 44 (54l uau2l 7
[zl 212 £9. 20 UADL i dolHed <l [FHA iqsH £2 A5 €2 sals 3.1 (54l 214

2.2 (54l owell, uHEoUs12 oA A1 45 AL 2l Heu auld 2Bl UL 244

QHEA <Ll UHA AL

Al usel AL syaloL 2l (14)
(A4 aAlss ALEAL AL M QU Hel UHMAL 7
G (4244 nals WA [d AHMAl, 7
AlAAL usl L syaloL Bl (14)
SIFLAIO2 distHif2a usafdedl uiar 152 sugld 212l sid axmal. 7
Hod[zs a2 dHmal. 7
Al usl L syaloL Bl (14)
il Rzl Hizz Sasils 252 HIZ gL HIZ 29 89 qdlAl. 7
2556yAs WA YHAMAl. 7
ALl nsAl AL syaloL Bl (14)
H2L815 <Al [AEAid uHondl 7
25 2laL gpll Hizz U2 Yyl silsor dnmdl, 7
ALl nsAl AL syaloL Bl (14)
514 AlS(2aL uEsfd qHmal. 4
21l wlkads uHmAl. 3
200 2l UHidz 2sH0 <l <dl Al 7
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